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1. HEQ IR

A= =AY SESIA0N 28 HE
EC 53 SEEEE) SBExgs HoIC
DHOITHA HZ01 50 B2 RETAE 15(FAEE)(2E) ACE20
DHOITHA 20| B3 SETAIEHZEA) A9290
DOICIA 22 B3 RS TAS () 53840
OIOICHA HE0l 50 B2 XAEXAE 1S (FAEE)A 5= AC821
OIOICHA H=01 50 B XERAE 1S(FAEE)Ae == ACB898
OIOICHA HE0l 50 B2 ANEXAME 15 (FAEE)C AC822
OIOICHA H=01 50 B3 IEXAE 1S(FAEE)C-W AK388
DHOITHA HZ01 50 B2 RETIE 15(FAEE)Ce AC899
EECEL EEFAE, 2018, 528, NS EEY R 2012.10.09
Fotgo=z tﬂ:o|
28712 2020.04.09 ~ 2020.07.08 =202 s o10] @
KA S S5 M DHOICHA A A 2 S EENEEETY e g
DB2SEX, KBSR, NHSE 2 ¥,
NHEXS, D252, )Iged, HASH,
DIHOIACHS, RO, AN BE,
BHOH 3 At HEET, NYBH, NESIBER, MEeH UBHALR 2|3 A BHLIE S At A
o2, IISEH, SILIZSEX, stLiey
SRAYSH, HRAENEH, HRLAST,
BEHENS
SxHAS S010] 2el+aSl +ABS =0l FARHCE(OH0ICHA 20| FA2)0 50~60% 0142 S A
gmo sx  |D0L LIS HASHE(DOIGASANAR)0 F2 SNBUILL FARHEE 61X HE X 288
SETTS o 2% Mes UIRS s Mek(Event Driven, XQ{H)E B8, FIIX4 SOl 2H L0l HHNOI 2
SHNS ZIGIH, HACHEE Y AT SNS S5 IS 01K 242 FASLIC
> THAHS &
(EHSH: B40FRI, BHIX}, %)
HEgy 3= Hole g s28
XE&F £ 94 (A) 3,042 3,038 -0.12
= 7H % 2 (B) ~100.00
H=Z0I50XH (FE)(28) & XS % (C=A-B) 3,042 3,038 ~0.11
23 2o/5A 5 2(0) 2,789 2.660 ~4.64
JIEJ12 (E=C/Dx1000) 1,090.64 1,142.34 4.74
XE&F Z 0 (A) 3.042 3.038 -0.12
= 7H % 24 (B) ~100.00
H=Z0I50XH (FE)(28) & XHHE % (C=A-B) 3.042 3.038 -0.11
EEEEEEED) 2,789 2,660 ~4.64
DIt (E=C/Ox1000) 1,090.64 1,142.34 4.74
EZ(Class)g J|=012 8 &
A= 0I50KH (FE)A S 977.49 1,021.60 4.51
1= 0150XH (FE)Ae JIEIH 982.69 1,027.61 4.57
H=0I50XH (F2)C I 967.70 1,010.39 4.41
1= 0150XH (F&)C-W DI 986.03 1,031.67 4.63
= 0I50XH (FE)Ce DI04 978.14 1,022.34 4.52
F) JIEIH0E S ABEANSAE S2(HY), ES(BMots I2 E= =HS(HB2 1) +Z A0l H2E= )IH0=
BEO| &IAEUS SHE 2OSA SXHAE L= IS ZELIC
2. 223 A £ S3E
> 2231
BC 2082 AZHA JIE 4.51%2 HIDX4 HHl 2.92%p &S +E2 JIS5HASLICH




P SXEE L 22 HE
XLt 62 ZUZAIE 2EAS ZAO02 6t D2LHI WM SAUNE 70610 3HE A ASHES SUSLICH 220011 J| 29
clE=E NSEAD SEE UEs A2 S Aottl= DSO0IUSLICH 230 =0H=I AE 2AAB HE2 6F +25.4% =53
2,012 =010 HE HOIET) BES +4.3% SSHSLICH KOSDAQS IEIL/FI/HI0I2 2l 2 H 0 821020194 42 O
S 13002 CHol RE 750ptE A3lG6HIIE BHASLICH
4~5E SA SIS0 T 68 SAII ASHE 0lHZ = UJPE QoIS FNAH ¢SS HtECz st M 2= I S Set
SEM SHUASLICH HHO B2 7HHE S5 MUOIU 62 015 CHAl EIt6tD Qs DELHI SHXRQY, WA EXX D A= 0|
S S22 HSEE =0/=R02z g Aoz BYLILH FAANE2 Hasd A S0A &F0| JIU0 2Edt=Xl &0lcte =
YR UAS YU AO2 HALICH
HE= D2LHO9Z Q5 AIRO0| 228 013 VA IS0 A256t0 HEUXNOZ =014 HES SAGIYSLIC 50T HEE HA
HMOZ =HHIEZ22Z2 SAE WIEULICH HE= A RUE0| Aoid L2 ITHE S, I 4S50 SETE HEHE 23 QIF
W= T2l HIOIQ HES MAUASGHH HIES SAS HEQLICH BH, EHEHAEO HE0| NBED A= HEX S 227)
AMAIES S0IGHH AIES JIUX Ol&2 AE0| flatles 22 W 2 =58 A8 SAULZ HISS Siot A A &L
PIIZHER) +U8 (%)
= X2 3 X2 6HE E = 9HE E 2 1203
HEO0I50KH (FE)(22) 4.74 3.69 5.16 4.84
(HIW X4 Tl &) (3.15) (2.10) (3.05) (2.18)
EZ(Class)g & &t
HE0I50KH (=2)A 4.51 3.24 4.47 3.91
(HIDXI2 CHHl & 1) (2.92) (1.65) (2.36) (1.25)
HEO0I50XH (FE)Ae 4.57 3.35 4.64 4.15
(HI X< CHHl &) (2.98) (1.76) (2.53) (1.49)
J1:0|5ox (F&)C 4.41 3.03 4.16 3.50
(HI X2 CHHl &) (2.82) (1.44) (2.05) (0.84)
He OISOIH( E)C-W 4.63 3.47 4.82 4.38
(HIm X4 ChHl A1) (3.04) (1.88) (2.71) (1.72)
HE0I50KH (FE)Ce 4.52 3.25 4.49 3.94
(HID X2 CHHl & 1) (2.93) (1.66) (2.38) (1.28)
HI 0 XI %= (#IXI0t2) 1.59 1.59 2.11 2.66
ZF)HI WX 2= (HXI0L3): KOSPI X 5% + O1ZBP SEMA K2 20T 1-2Y X 45% + [KIS SEIIXI4=(1-2Y) X 55% + KIS ZI|XI4=(2-3Y) X 40% + CALL X 5%] X 50%
* 9 SANAR2 It H 40E UEHE = 0l 2E40E 2&0t= A2 0ot LICH
= =214 x= 24 x = 34 z= 54
HE0I501H (FE)(22) 4.84 1.93 3.90 6.83
(HI X< CHHl &) (2.18) (-2.95) (-2.58) (-4.04)
E5(Class)g S &t
HE050KH (Z2)A 3.91 0.13 1.16 2.13
(HIMXI2 CHHl &) (1.25) (-4.75) (-5.32) (-8.74)
HE0I50KH (FE)Ae 4.15 0.58 1.85 3.29
(HI X< CHHl &) (1.49) (-4.30) (-4.63) (-7.58)
HE0I50KH (=E)C 3.50 -0.67 -0.05 0.11
(HI X2 CHHl &) (0.84) (-5.55) (-6.53) (-10.76)
H=0I50kH (F&)C-W 4.38 1.04 2.54 4.46
(HIMXI2 CHHl &) (1.72) (-3.84) (-3.94) (-6.41)
HE0I50KH (FE)Ce 3.94 0.18 1.24 2.26
(HI Xl <= CHel &) (1.28) (-4.70) (-5.24) (-8.61)
HI XI 4= (#IXI0t2) 2.66 4.88 6.48 10.87
F)HI WX 4=(#IXI0F3): KOSPI X 5% + OHZBP ZSEHAXI%= 2D 1-2Y X 45% + [KIS SEI|I X £=(1-2Y) X 55% + KIS I X£=(2-3Y) X 40% + CALL X 5%] X 50%
¥ 2 EXNAEES I H S0 E LIEHY = 0leie 2EHUE E&06t= A2 OtELIC
p =SS (CHsl: BHOHR)
= TFAH AFZZ Ed C = al
R oaﬂmg SR QLJ#OOEQQ Sk g%x&en%a le01E|H§ T e | =eE
ol | —201 9 2 0 160 0 0 0 0 1 0 31
] 276 19 5 0 —151 0 0 0 0 —7 0 142




3. XhahS &

b AR AHEE (SHSl: 4o %)
%igaﬂ _ S _ Ut AHS SN SR s ¢ e X} A4 o
= F=4 2 018 ZSEX | ZU 9| AE2XtaH|  DJIE 0=
KRW 1,632 1,380 319 0 4 0 0 0 0 66 -364 3,038
(1.00) (58.72) (45.43) (10.51) (0.00)] (0.15) (0.00) (0.00) (0.00) (0.00) (2.17)| -t1.8m (100.00)
A 1,632 1,380 319 0 4 0 0 0 0 66 -364 3,038
*(): 248HlI=
& D =i
AAHE FEHIE AMHE FEHIE
718 -T35mmmm ZIEt  -17.97
HIGERN S 11.21 CHI|CpE T2 1217
EEAS 0 ESRA T 0
HEA 0 SEM4 0
OpsANZ T 1071 s 10.15
TEER T 0 TEEA 0
g 94 0} 2 ~ — 1051
A ~ I 5234 A X I 45 43
e 3 I 50.16 =4 _ I 53.72
-20 0 20 40 60 a0 100 -20 0 20 40 60 a0 100
b =LA &HIS
Sste =4 O A S I SS9 XA COItHE Y =
3 = Ab=o0H
& =4 = = |SEEM] EU o | "= [asxa] JlEt 0= eS| s
OH4=Z X 1,632 1,380 319 0 0 0 0 0 0 66 -359 3,038
(0.00) (53.72) (45.43) (10.51) (0) (0) (0) (0) (0) (0) (2.17) (11.83) (100)
HEZXA 0 13 0 0 0 0 0 0 0 0 0 13
(0.00) (0) (100) (0) (0) (0) (0) (0) (0) (0) (0) (0) (100)
=2 X& 1,632 1,368 319 0 0 0 0 0 0 66 -359 3,026
(0.00) (53.94) (45.2) (10.55) (0) (0) (0) (0) (0) (0) (2.18) (11.88) (100)
b FAASE EXNHIS (B2l 2 %)
=2 HEE HI = =< =T HI =
1 P RSPy 31.64 6 M= 6.46
2 IT H/W 18.42 7 = 3.54
3 AMEIA A 9.47 8 =22 3.29
4 2SI 7.88 9 E 2.70
5 3}t 7.36 10 J|Et 9.24
P 2t EXHHIS (9 - %)
=2 =219 HIS =2 EPIE HIS
1 CHstel= 100
> SXNUA & 108 (S+9) : %)
=2 & S5E HI = =< = =558 Hl =
1 FA AT 10.67 6 2 ROES51-1 4.20
2 JIEt REPOON & (20200708) 6.51 7 pue! A& 2211 4.19
3 = St= & 2936 4.38 8 pue! OlcHOll A1 CH<51-1 4.14
4 = A=22041010300-0206-2 4.23 9 T OFLIIH Il €299-1 4.06
5 = AlSt2823-06-01-3-C 4.23 10 =4 NAVER 3.52
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b AXE B4 X2 S & (CHS): 4Okl %)
S & | =5l [
- =% EREE g "
EER 0 0.00 0 0.00
ENER 0 0.00 0 0.00
S REECINNEERD) 0 0.00 0 0.00
ENERREEN 0 0.00 0 0.00
R 0 0.00 0 0.00
HE0I50KH (FE)(2L) IETERS 0 0.00 0 0.00
CHEONON, EHS22 1 0.03 1 0.03
OH Of IAZANS =
fi]HE AUl St 2 0.05 2 0.05
T SR 3 0.08 0 0.08
=21 2H Al 2 0.08 3 0.09
EETS 1 0.10 1 0.10
BN 0 0.11 2 0.11
HE T A 25| AF(A LI ) 0 0.00 0 0.00
UBFAF2 242 3] Ab 0 0.00 0 0.00
EEEY 3 0.22 3 0.22
HE0I50KH (Z2)A JIEFHIE *2 0 0.00 0 0.00
o CHEDNO, ES 4 0 0.03 0 0.03
l TAESGR S
ASAJHE P 1 0.05 1 0.05
T & 1 0.08 1 0.08
=212 Al 1 0.08 1 0.09
RS 0 0.10 0 0.10
BN 0 0.06 0 0.06
S REECEINNEED) 0 0.00 0 0.00
QU BIAL2 2H2] 3] A 0 0.00 0 0.00
EEEY 0 0.17 0 0.17
H=0I50XH (F=2)Ae JIEFHIE * 0 0.00 0 0.00
T CHEONO, NS4 0 0.03 0 0.03
l TAIERAR S
A;SAJHE PN 0 0.05 0 0.05
T 2 0 0.08 0 0.08
=2 f Ml 0 0.08 0 0.09
R 1 0.10 1 0.10
O 5] AR 3 0.21 2 0.21
T E KA 25| AF(A LRI T 0 0.00 0 0.00
ENEREEN 0 0.00 0 0.00
EEEY] 4 0.32 4 0.32
HE0[50KH (FE)C JIEFHI & * 0 0.00 0 0.00
o CHEONO, S 4E 0 0.03 0 0.03
pl TAEAGR =
A;SAJHE P 1 0.05 1 0.05
T & 1 0.08 1 0.08
=2} Ml 1 0.08 1 0.09
XHAFS A 0 0.10 0 0.10
BN 0 0.00 0 0.00
HE T A2 25| AFH(A EFRI ) 0 0.00 0 0.00
ENEREEN 0 0.00 0 0.00
Ry 0 0.11 0 0.11
H=0I50AH (F&)C-W JIEHHIS *? 0 0.00 0 0.00
O CHEONON, ENS22 0 0.03 0 0.03
- TAIEHE S
ffL PN 0 0.05 0 0.05
T 8 0 0.08 0 0.08
=21 2H Al 0 0.08 0 0.09




NEENY 0 0.10 0 0.10
EHOH 5] Al 0 0.11 0 0.11
B C T AFE 2H5] AF(A EFI ) 0 0.00 0 0.00
FENEREE 0 0.00 0 0.00
EEEE 0 0.22 1 0.22
H=0I50XH (F=&)Ce I 0 0.00 0 0.00
Ch==0H0 = . .
oo I)\I: i = HD 3 0 0.03 0 0.03
?BHE AUl St 0 0.05 0 0.05
T B 0 0.09 0 0.08
=2 | o Al 0 0.08 0 0.09
« HEO| =X AFSH(D|2HE A (hH HISS PE}L:,”LIEP.
xx J|EHIZ0/2F SIHZAIHIE, =2 SOl & 2 ZHHIE S HEWA AR -BIE2NOo2 2= HE22M HHH-EH4+2= A
QI8 LIt
¥ ADLBAUY Y oS
W LSRN Y o=
P EE4 HIEHIS (SHD|: AEHAL %)
22 | 224 -H2H2A) *] Hoh- S22 2(B) B (A+B)
_ ISBl 0.0034 0.4443 0.4477
sS\(=
HS0I50N1(FE)(=8) S| 0.0037 0.3452 0.3489
_ | 0.8982 0.4456 1.3438
= ==
H=0I50XH (F&)A =Pl 0.8985 0.3455 1.044
_ | 0.6705 0.4529 1.1234
= ==
H=0I50%H (F2)Ae =Pl 0.6701 0.3457 1.0158
_ ISB] 1.0993 0.443 1.7423
= ==
H=0150%H (F£)C =Pl 1.2996 0.3464 1.646
_ ISB] 0.4441 0.4483 0.8924
= XS _
H=0I50%H1 (F&)C-W =Pl 0.4443 0.346 0.7903
- ISPl 0.8714 0.4427 1.3141
H=0150%H (*2)Ce =Pl 0.8717 0.3419 1.0136
=1) £24 U/ 2H|I2(Total Expense Ratio)0|&F S84 S HEWA SEots 242 'JIEIHIE EHS XA HEHTH (B4
2 UL IIE)OZ L= HISZA Y 282I/12 & EXNADL B = B4 42452 U wuu
=) OHON-Z=M242 HIS0I2 DI SHE422 £XA CIERM(B2HE I2AF IF)O2 Lix HIEZ2A iy 2212+ 5 €
KERFDE S8t OHOH-SHS420 &2 UEFLLICH
6. S XLAFAHOHOHLH &
> HOHFARE & JEE (CHS: BH0HRl %)
B S MEEER
32F =oH 2k =oH REPIE O 3t AF
406,133 10,689 404,174 12,473 68.62 275.23
=) NS A S0I2 ohY 28|12 = IS8 TAIDIMHO ZEHS 1) glS SEI|2H £ BR6H ZAQ WRIIMOZ L HISYLICH
IHOHSI M E0| =222 MHOHH2HE22(0.1% L) L SAHAMM (IS Al 0.3%) LMO2 AN EXHAIF RE6HH &= BHEH 0
=O18tLIC
b x2 3| =4 HOHE &= 0| (&1 %)
2019-10-09 ~ 2020-01-08 2020-01-09 ~ 2020-04-08 2020-04-09 ~ 2020-07-08
78.20 62.67 68.62
7. X2 EAS DK THA SEXHU 28 AHEE
> NSTA EXH0 28 ALE (2l &, %)
HE g | SXHALDI | SX= $ol= HI 2
ENEEE
F1) £082 2I|I2EEIM LY JIE




-
=Xl ALE
0l BEDAE K2AIEH 2o 00ICHA HE0] 50 S NEINE 1S (FASE) ()2 XA2ES| AR OFOICHA WA XA Z 0]
Mot HETHAE 2 AHAIEFA X Q! oHLI28 9| 2018 210t SI2WEZ MRS Soll SAAHOIA MBELICH Crer &2 oleel
HEO| HETHAZ ZSIAHAIEFA X)) S01D|2H2 L OflEFE & 0|F J|2H0l 8H8FLICH.
2tE BA &l OLOICHA O AN KH A2 2 () http://www.midasasset.com/ 02-3787-3500
28X 3 http://dis.kofia.or.kr



